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Answer all the questions by choosing correct alternative: 2x25=50

#oF fam fdioe a3 afe amia Tex wie ¢

1. Indian Parliament consists of.-

(a) Lok Sabha and Rajya Sabha. (b) The President and Lok Sabha and Rajya Sabha.
(¢) The President and Lok Sabha. (d) The Lok Sabha and the State Legislative Assembly.
SIS ARG 9Mfe & —

(a) @l ¢ AEPTel WE (b) FsiTs, @Il ¢ AaPTel W™

(c) ATl @ TSl W (d) TS ¢ Frey Raprel

2. Ex-Officio chairman of the Rajya Sabha is —
(a) The President (b) The Prime Minister (¢) The Governor (d) The Vice president
AEPTOR ARSI el ooy Faa —

(a) AR (b) ai==g! (c) A (d) Togelfe
3.  Maximum number of members of the Lok Sabha may be—
(a) 525 (b) 545 (c)550 (d)552
(TSR A AT AFCS 2T —
(a) 525 & (b) 545 @« (c)550 &= (d)552 &«
4.  The president shall nominate the total number of members in Rajya Sabha-
(a) 2 (b) 5 (c)10 (d)12
AT AT @GR e FACS AT —
(a) 2@ (b) S& (c)10 &« (d) 12
5. The Governor of different states in India are appointed by the —
(a) President (b) Prime Minister (c) Parliament (d) State Legislative
Assembly
fafon qitena Areyoiiers We 20 —
(a) AT FEF (b) i TG () AT (d) 3rey RierTe! FEF
6.  Chief function of the Indian Parliament is —
(a) Law making (b) Election to the president
(c) Justify the constitution (d) Advice the Governor
SIS ARG i I 261 —
(a) SIZe Qe (b) FFsifs fiHa (c) KR At amie (d) AT 21 ami
7.  The members of the Rajya Sabha are chosen for the term
(a) 4 years (b) 5 years (c) 6 years (d)7 years
ASHTAST WA FRPIET GRIT —
(a) 43=d (b) 5 =7 (c) 6 9=7 (d)7 =g
8.  Who decides whether a bill is a money Bill or not —
(a) President. (b) Prime Minister (c) Speaker (d) Finance Minister
@ e widfe o, of e e —
(a) BT (b) &= (c) Pt (d) =@
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The Legislative Assembly of West Bengal is —
(a) Unicameral (b) Bicameral
“AsaECEE ey i el 25 —

(a) @3 [T (b) ez M2

A Money Bill can originate only —

(a) Lok Sabha

(c) Bidhan parishad

EREGRER ECeRE

(a) TS

(c) fa= Afmam
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(b) Rajya Sabha
(d) Both of the Lok Sabha and Rajya Sabha.

(b) FrEPTSICe
(d) STl @ (FIFTe] TEIFCH |

Minimum age for holding office in the Lok Sabha is-

(a) 18 years (b) 21 years
RS AT o I 2o —
(a) 18 =37 (b) 21 T=37

(c)25 years (d)30 years

(c)25 a7 (d) 30 =3

A motion of no confidence can be introduced in-

(a) Lok Sabha
(c) Both House
SAZPHF 2K TIoi FACS 2IH —
(a) CeTi<eorel (b) rETel
The Budget is also known as —
(a) Annual financial statement
(c) Taxation statement
ACEH 2T —
(a) AT St 27 (b) PR =i 2o

(b) Rajya Sabha
(d) Neither Lok Sabha nor Rajya Sabha

(c) ToTw (d) (FI %8

(b) Monthly financial statement
(d) Annual Receipt and expenditure statement

(o)FMFE A7 (d) 3T =i s e

The impeachment of the president is carried by —

(a) Attorney General

(b) Member of Parliament
(d) Only Rajya Sabha

(c) (TG (TSl (d) (PTG el

(c) Only Lok Sabha

AT BIEEIG Tllsf T —

(a) @O (EICEe (b) AT 30

The president shall nominate the total number of members in Lok Sabha are —
(a) 1 (b) 2

AT FRFTOR NS FACO 2GS —

(a) 1 & (b) 2 &

Chief Justice and other justice of Supreme Court are appointed by —

(a) President (b) Prime Minister
Al (G AL S Ty KBTS o Feaq —
(a) FBolfs (b) iTE]

The Upper House of the Parliament is-
(a) Lok Sabha (b) Rajya Sabha

ATECET SHFF 2o —
(a) GTRT@!

(b) ArETe!

(c)3 (d)5

(c)3 & (d)5 &=

(¢) Governor (d) Speaker

(¢) STeitat (d) Posfeta
(c)Bidhan Sabha.  (d) Bidhan parishad
(c) frerret (d) Rerersiferam



18.

19.

20.

21.

22.

23.

24.

25.

(3)
The Money Bill defined in article -
(a) 110 (b) 112 (c)120
wieffet &5 ol Sraiee g —
(a) 110 =R (b) 112 = (c) 120 =
Who can cast the casting vote ?
(a) President (b) Prime Minister (c¢) Governor
ez (it emim Fare A" —
(a) AZsifS (b) ai==g! () AT

Resolution for removal of the Vice President can be taken by-
(a) Rajya Sabha (b) Lok Sabha

ToRIgfes smpyfe Fere eRela fHes HAiE, —
(a) FEpTel (b) Tt (c) TeFw
Minimum age for getting elected in Rajya Sabha is—

(a) 18 (b) 21 (c)25
AePTeR FE(be 2% Paos 07 2T —

(a) 18 (b) 21 (c)25
How many session of Lok Sabha take place in a year-
(a) 2 (b) 3 (c)4
@b T2 Fowf ETIFTS SR 0T —

(a) 25 (b) 3T (c)4 T

Which bill president is bound to sign ?
(a) Public bill (b) Private bill
A% (I Reet 7afs emit iy A —
(a) 7= & (b) AR &
The Budget is raised in -

(a) Lok Sabha (b) Rajya Sabha
ST (FI FCF TS 2302

(c)Money Bill
(c) =it

(c) Both house

(a) EITeR (b) FETER (c) TSTFCF
How many members of Lok Sabha can be elected by the people ?
(a) 530 (b) 545 (c)550
NS FoC T Gial(=1d 71l fiifoe 2 —

(a) 530 &« (b) 545 &« (c)550 &
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(d)123

(d) 123 =

(d) Speaker

(d) s

(c) Both of the house (d) None of them

(d) 9= (IR T
(d)30

(d)30

()5

)5 %

(d) None of the above

(d) @GR w1 |

(d) None of them

(d) (&1 FCF2 T

(d)552

(d) 552 &



